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this regard, will be entertained after examination.
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Note : Attempt five questions in all, selecting one question
from each Unit. Question No. 1 is compulsory. All

quest1ons carry equal marks.,
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1. Write short notes on the f ()l!()wi.113;- : 34g. i
Ry W e fowforr g
(a) Whatis Book-Building ?
Book-Building 1 &l & 7
(b) Meaning of capitalization of profit.
@ ol & ol
(c) Bearer Debentures.
CIESTREMRE]
(d) Meaning of Purchase of Own Debentures.

a & FOE F B A T
(e) Discuss net assets method of valumg shares. .
asﬁ%wﬁgawﬁrﬁfﬁwﬁaﬂﬁﬁm
(f) Prehmmary Expenses
S = iy
(g) Meaning of Right‘Share.' S
B S
(h) Corporate Dividend Tax.

Ca ol K KRGS
3 - »

UNIT - |
g — |

2. What is meant by buy-back of shares ? Mention the
conditions of buy-back and the guidelines issued by

Securities and Exchange Board of India in this respect.

16
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3. A company wants to redeem ils 20,000, 12% preference
shares of ¥ 10 cach at 10% premium, Following-balances
are obtained from their books : 16

TH F O T 10 am 20,000 12% YRR e @

10% NP ® MYT FE aEd 8 I gEw g e
SERCINACIUR

3
Securities premium ‘ 6,000
sl S ‘
Balance in surplus accoimt R | 30,000
e & AT

Directors redeemed the shares by making minimum
Fresh issue of equity shares of ¥ 10 each at 5%
premium. Give necessary journal entries.

de A e ge ¥ %10 g AU g Sist # 5%
e X it e aies fean emases sMa afaftedt
I

UNIT -1l
e — I
4. Give jourrial entries for the issue of debentures in the

following conditions. Also pr’epare the balance sheet in
each case: 4x4=16
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tesued 2,000, 12% debentures of X100 ey, al
SS al 3

discount of 2% 1'odcomablc al par.

29, q,—awqu ﬁqmr&ﬁmwg@waqr%l

. Issued 2,000, 12% debentures of T 100 ecach at 5
premium of 5%, redeemable at.par.

2000, 12% T W, S % X100 3 3, forfes

59 tftr QX fear, R e T 9T 8 Y
L. Issued 2,000, 12% debentures of ¥ 100 cach at a

discount of 2%, redeemable at a premium of 5%,

2,000, 12% O &, S H&F T 100 # & frigy
2% Ferd T e, FFe e 5% M woen ¥
IV. Issued 2,000, 12% *debentures \Qf ¥ 100 cach at a
'premium of 5% fedeema"blé at arrpretrﬁum of 10%.
2,000, 12% O 1, A T&F T 100 7 B, PR
5% HfEE W R, Fm?br M 10%. fifE W

B Bl
5. Describe the various methods for redemption of
debentures with suitable illustrations. , ' 16

m%sﬁmﬁﬁ%ﬁmﬁrwsﬁﬁmﬂiﬁ.
quie HifeT)

UNIT = Il
g — I

6. Explain the factors which affect the valuation of

goodwill. Discuss the methods which are used fof
goodwill valuation, 16
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7. The Balance Sheet of Gujarat Oil Ltd. as at 31st March,
- 2018 was as follows : 16

-31mzo1sqﬁwaﬂw%ﬁ%‘s’a?r%émaﬁz
P 8

Particulars - ' <. 4
I. EQUITY AND LIABILITIES :
glareholder'é Fund§: o
Equity share cépital : -

(25 000 equity shares of 210 each) o175 250,000
| Preference share capital : E
i siar ol - Ed =
(1,500, 12% preference share of €100 each) - 1 1.50,000
Debenture redemphon fund e - - e =T 70 000
Investment ﬂuctuatlon fund A ' RE2 20,000
| Surplus ; S Bl S s w0000
Non-current liabilities
14% debentures 1,00,000 |
i ,

61251-8100-(P-8)(Q-9)(22) (5 ) | - P. T. 0.



Current Liabilities :
A IR
Trade payables
BINIECIECRIY

Outstanding expenses

e AYg

I. ASSETS:

Non-current assets

Fixed assets St |
L}ess—d_ePregiaﬁqn 'fnn'd 7
Goodwill

(Rt - sisma: gqrcn easzﬁ H%ﬁ)
Current Assets

e wafE

Inventory

Tafaar

Trade receivables
‘Considered good

e

Total |

| Investments (mcludmg partly pald shares) - .

13,50,000 |

60,000

80,000

90,000

10,000

1 7,70,000

2.90.000
| 50,000

60,000

==
) % ‘\’

1,80,000

L 4
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[
Considcred doubtful

e
Cash at Bank

¥o ° A
Current/Non-Current Assets
e /AR ER
Share Issue Expenses

.’Tﬁﬁqﬁm

 Total

20,000

1,00,000

40,000

50,000

1,70,000

oo

61251-8100-(P-8)(Q-9)(22) (7)

~ Preference dividends are in arrears for last two years.
Market price of investments is ¥ 45,000. Out of doubtful
debts 80% are recoverable. There are contingent liabilities
in respect of the following : P e ,

e i W Red @ At @ A W e R
TR e % 45,000 & wfrg o @ 80% OI< B A
3, P @ e § duRE aRE A
(a) Uncalled Hébﬂify of X 12,000 o.hl-pa'rtl'y paid shares.

SigTer: e SRl WX ArST Heel it T12,0001
(b) On account of a bill of exchange discounted,
which is expected to be materialized ¥ 10,000.
gﬂmmﬁﬁwmﬁ,ﬁﬁswmwﬁa%,
10,0001 Ty
Assuming other assets arc

you are required to value
assets method. .
%W@%%wﬁﬁwwﬁ%ww%
w%,amﬁﬁf%gaawﬁrﬁfﬁ%mmﬁ%@
P T eI

worth their book values,
of shares according to net

P.T.O.



UNIT = IV
g — IV

8. Write notes on the following : ) 5+5+6
it T ferell ffae -
(a) Divisible profits |
EEIEECIRECICE
; (b) Defé.rred_taxliability = T ' N
(c) Corporate social responsibﬂify :
9. Write r__1ﬂote.sl on the folldwing Haol o 4 ><4 =16
(a) Profitor loss prior to inco‘rplorfc}tio‘n k
- TR ¥ S A ary
(b) Divisible profits : oy :
P *
(c) Time ratio - |
(d) Contingent li_abilities & commitments

HHH AR/ T FEaEa

61251-8100-(P-8)(Q-9)(22) (8)



Roll NO. .

61252

B. Com. (Pass) 3rd Semester w.e.f.
Academic Session 2018-19 & Current
Scheme Examination — December, 2022

' BUSINESS STATISTICS - |

e V Paper-: 3.02

. Time : Three Hours ] ' P Maximum Marks : 80

Before answering the questlons candidates should ensure that they
have been supplied the correct and - complete questlon paper No

complaint in this regard will be entertamed after examination.
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Note: Attempt five questions in .all, selecting one -
9 question from each Unit. Question No. 1 is
compulsory. All questions carry equal marks.
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1. Explain the following in br ief : 8x2=1¢6

ey =) walg e #)

(a) Ordinal Scale.
anfERa @l

(b) Difference between Classification and Tabula ton.,
lfepeer R AR H T

(c) Using the values 2, 4 and 8, verify that HM < GM

< AM.
2, 4ms%wwwmg,mﬁ5}w{<

GM < AM. .
(d) Two mathematlcal 'properﬁes‘ of - standard

deviation. .

Y fee Bl &7 Wﬁﬁﬁa Rwand
(e) The ﬁrst three central moments of distrﬂouﬁon are :

0, 25 0.7. Fmd the moment coefﬁaent of
skewness

@ﬁaw%qé%eﬂq%aﬁmrﬁmo 253?1(07%1
ﬁm%qﬁwgﬂrﬁml e

(f) Distinguish . between Symmetncal & Skewness
distribution. :

mﬁ‘cﬁaﬁwwﬁwwf{w ’

(g) Partial Correlahon
MR FeT=|

(h) Regression Coefficients,
SRR TOTih|
UNIT - |
TR ~ |

2. Describe the various ‘method of collecting primary
data. 16

maﬁmaﬁwé%waﬁﬁﬁwﬁwaﬁravhﬁl
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3. Write short note on the following : 4x4=16

= WX R fewell o

(a) Frequency Curve
I b

(b) Frequency I—Iistegram
SICINECIDRIEE]

() Frequency Polygon
N TELT

(d) Cumulative Frequency Curve
g aﬂqﬁr GED
“UNIT - S e .

'mg-u

: Calculate arlthmetlc mean medJan mode - and

3 standard dev1ahon for the fo]lowmg Senes e 16

ﬁﬁr 91@@ ﬁ wﬂ?ﬂ mw qwasr agaqs avn S ﬁ{a?f

| DailyWages 2534 | 3544 45-54; 55:64 | 6574 | 75-84
No.of Workers ~ |4 |24 - |62 |8 |9 |10 _
i A qemn e '

. Discuss the’ ments & demenfs of Vanous measures of X
central tendency. 2 16 2%
wm%ﬁmw%m@a@mwﬁﬁm

UNIT - Ill

- g — 1

. Calculate first four central moments from the

following and also find the value of B; & By : 16

61252-8250-(P-4)(Q-9)(22) (3) _ - P.T.O.
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PSR IRIREEAIN I -
Sales 40-50 | 50-60 60-70 | 70-80 | 80-99
KER ]
No. of Companics. 10 25 30 23 12
FNGE A Hea a i

7. What do you mean by Skewness ? Discuss the various
methods of measuring skewness. 16

hmémwwﬁ%?ﬁw%mﬁﬁﬁﬁw
ﬁﬂtﬁﬂﬂvﬁaﬁl '

L uNT-v = Q
;7-: = 7 '_ Wg_lv” >

8. Defme Correlatlon D1scuss 1ts 51gn1f1cance in statistical

analysis. Does it always s1gmfy cause and effect
relationship between two or more variable ? - 16

Wﬂﬁmmummwﬁmmg
mwﬁaﬁmlwqgaﬁanaaﬁ%q&uwaﬁ“(
URUM & owEE H e e

9. The two lines of regressions are glven below, find

x and v/, rwy and SD of i - A - 16
ﬁ‘?awwﬁﬁﬁxﬁ'{/ rn,.»aﬁ-{“yesrwq._
Variance ofx=9' ' | |

8x = 10y + 66.= 0

40x - 18y =214

61252-8250-(P-4)(Q-9)(22) (4)
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BUSINESS REGULATORY FRAMEWORK - |
Paper : 3.03 S
: # ey e B
Time : Three Hours ] - [ Maximum Marks : 80
Before answering the questions, candidates should ensure that they have

been supplied the correct and complete question paper. No complamt m.
this regard, will be entertained after examination.

T & gy 33 @ vea w78 ghRea v 7 By T g7 @
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- gh e ,
. Note: Attempt five questions in all selectmg one question
from each Unit. Question No. 1 is compulsory All
questions carry equal marks. ;

TAF @ A 0 U TN 3T, FW g7 9 B W
dRw w dem 1 gfed B Wl oS & S
I 2 Sy -
1. Briefly discuss the followmg
. Prefied W E89 § o= ?ﬁﬁm
~ (a) Illegal contract |

Y TFET

. 61253-6850-(P-4)(Q-9)(22) P T. O



(b) Valid acceptance

qer Wi

(c) Essentials of a contingent contract
T SR ey il HAfErda
(d) Indemnity

(e) Gratuitous bailment

ﬁ:glp_vﬁ STHI
(f) nghts of pawner ; °
ﬁR‘cﬁ T@?f Eﬂ% % anWR
' (g) 'A Consumer ==
_‘ (h")’Consumer fortin; A = .

UNIT-1
i

2. Discuss the essential elements of a valid contract. How
is it different from a void contract ?

@%ﬂ@ﬂ%ﬂﬁ&%ﬁﬁﬁaﬁtwmlaﬁsﬁ
AT ¥ F4 B 8 7

61253-6850-(P-4)(Q-9)(22)  (2)



Thon | ; . :

3. When is consent said to be given under coercion ?
What is the liability of a person to whom money has
been paid or goods have been delivered under
coercion ?

TR B TRl § a9 o T ? 99 @Re &

A & BRI fear ¥ A s A R
TR 7

UNIT-11
@~ Il

4. H1gh11ght the features of a contingent contract. What
are the rules relating to its performance ?

'%M@@Wﬁﬁ%@ﬁwmﬂaﬁmmmﬁa
Hafﬁaﬁ‘ww%?

5. Brleﬂy descrlbe the modes in Wthh a contract can be
: _—dlscharged 1

vwaﬂﬁwwffavhaﬁmﬁagwﬁwﬁmm;
kiU

- UNIT— |||
" ;:mg —1-

6. Explain the r’rwéningand ‘characteristicsr of bailment.
- What are the rights and duties of bailor and bailee ?

PRy o ol Rl @ s B SRR R
SRR 3 SfER R Fde #® 8 7

61253-6850-(P-4)(Q-9)22) ~ (3) P.T.O.



. Define pledge and distinguish it from bailment. When

will a pledge made by a non-owner of the goods be
valid ?

AR & o R ok = BET @ o SR
RS =RE G AT @, B TS AR B Jg Brf ?

UNIT —
T — IV

. What Wars' the need for enacting '‘Consumer Protection
‘Act, 1986' ? How can 1t help in protecting consumers'

mterests ?

) Gmﬁ?ﬁrwwaﬁrﬁ'qq 1986" Eﬁ@fﬁﬁaﬁﬁaﬂ%a‘%w<
BTHQWQﬂ?qECN“ﬁ?HBﬁ% %ﬁraﬁmm
‘-mﬂ‘@’mﬁraﬂm%?

. . Write notes on: :
=7 tr{ feooft foieg. -

“(a) nghts of a consumer

(b) Consumer awareness.

SUAH SIS

61253-6850-(P-4)(Q-9)(22) (4°)
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HUMAN RESOURCE MANAGEMENT
. : Paper 3.05 ~
Yﬁ'e : Three hours‘] : 5 [ Maxzmum Marks 80

Before mzswerzng the questzonb candzdateq should ensure that they
have been supplied the correct and complete question _paper. No
complaint in this regard, will be entertained after examination.
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“Note': Attempt five questlons in all selectmg one queshon
: from each Unit. Questlon no.-1 is compulsory All

questions carry equal marks.

q@zﬁmﬁwqwgﬁgq,mvf?qﬁ%w
@ R e Her 1 W%lﬂ‘ﬁﬁ?‘ﬁ%ﬂqﬂw%l

1. Give short notes : , 8 x 2 =16
e R ¥ ;
(a) Human Resourqe'Manggement.
AT HEET Fee|

61256-6600-(P-4)(Q-9)(22) " : | P.T.O.



(b) Growth trends of IIRM.
THARUA & I & S|
(c) Essentials of a Selection procedure.
e = SR @l ST
(d) Principles of Training
(e) Timé Wage MethodT e '
,; £) :Essentlals of an Ideal Iﬁcén’nves System ‘
FR Gﬂﬁ‘-‘ﬁ sﬁ?ﬂrﬁ EF’HF?I kS aﬁaﬁm |

(g) -Ob)ectlves of Industnal Relahons :

- Sl Haa’f % a‘E:sm
~(h) F»orms_ofrmdustna_l Dvlsputes.‘
AN
SR e A

\

2. Identify and discuss the managerial and operative _

functlons of HR management. 2. 16

qammw%mwﬁuaﬁ?mmwﬂﬁwﬁ
A Tof B

61256-6600-(P-4)(Q-9)(22) (2)




£ 3s

Explain the qualities and qu

alifications necessary for a
HR manager.

16

memw%memwgoﬁaﬂwmaﬁﬁ
T |

UNIT — I

What are the modern sources and techniques of

recru1tment ?

w?ﬁ%awgﬁzs@aaﬁta%‘vﬁmw%?

16

: Explam dlfferent methods of trammg the employees

== ;Suggest a smtable trammg method for salesmen of a

== 'Heavy Machlne Manufacturlng Orgamzanon 16 ,

ﬁﬁﬁﬂﬁfﬁﬁfﬁwml

‘,;qaﬁrmgamﬁﬁmn n

- UNIT— S5

Dlstmgulsh between Mmlmum Wage Fair Wageanda

Living Wage. What should be the wage policy for a
developing country, 16

A 3, Gﬁa%ﬁaﬁrmw@ﬁwzﬁuw

s 20 3 e Ao A = A AR

61256-6600-(P-4)(Q-9)(22) (3) , P.T.O.



7. Discuss various wage incentive schemes along with
their merits and demerits. , 16
R A SieresT ATl & oA afed @@ S

UNIT - IV
sasré —IV

8. What are the dlﬂerent causes. and 1mpact of Industnal

}»@WW%WW@RHW&WWMQR

'*Dmputeontheeconomy Yk Tl A .16

9. Writea short nofe on the follow1.ngi ; _ :16 B
(a) Parhc1pants of Industrlal relahon e
- St H%TH % qﬁi‘mﬁ‘rl
' (b) Recruitment of“ Good Industrlal Relation
Programme.
B s z:rcrﬂ P Eﬁ il

®

61256-6600-(P-4)(Q-9)(22) (4 )
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* - BASICS OF RETAILING s

Paper 53 06 (u)

Time : Thfee’ Hours ] Tl ‘"—"*[ Maxzmum Marks - 80

Bq‘ore answering the questzons candzdates should ensure > that they
-have been supplied the correct and complete questzon paper. No
complaint in this regard, will be entertained after examination.
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Note: Attempt five questions in all, selecting one
- question from each Unit. Question No. 1 is
compulsory. All questions carry equal marks.

% T A 0F I I W, 5 G T B T
ﬁﬁquma@rlaﬁmﬁlwﬁmﬁf%mw%x
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1. Explain the following : 2x8=16
M & s Y |
(@) Two characteristics of Retailing,
(b) Airport Retailing
(c) Departmental Store
Sueae &y - - |

(d) 'Hypermarkets ; | i | ' =
(e) Supply Cham Strategy

(f) ‘Format Franchlsmg '

: _'(g)_ Retall Achon Plan
(h) -Retail LiféCycle -

Nt ®
il |

2. What do you mean by Retalhng
importance,

R%ﬁwﬁmwmaﬁ%?m
B

61257—4650-(P-4)(Q-9)(22) (2)

? Discuss its nature &
16



- 3. Discuss the Future of Retailing in India' in detail. 16

R

ara R & w9 fega ==t iy

UNIT - 1I

gprg — I

4. What is Retailing Life Cycle ? Discuss the various

stages of retail life cycle. - 4 19

ﬁ%mwﬂaﬁa%w%?ﬁ%maﬂaﬁwa%ﬁ%
aaawaﬁzsravﬁaﬁmn--'

' 5 What 1s Retall Format 7 Dlscuss the Var1ous retall

formatsm detaﬂ LR = 7’ f 4 192

ﬁawmwaﬁ%?ﬁﬁwﬁEM#ﬁ@aaﬁ

= L"i"{;}, UN'IT = |||

m—m

6. What is Retall Management ? D1scuss 1ts various

‘ functions. ' : ' ' ' - 4,12

' ﬁ%anww%?sﬂ%ﬁfﬁﬂmwavhﬁml

7. Write a detailed riote on 'strategic retail management

process’, ey 16

TRt Rew yavy gfpr o) o R Raeh #ivm

61257-4650-(P-4)(Q-9)(22)  (3) . P.T.O.



UNIT = IV

& — IV

8. What is Retail Planning ? Explain the various steps

involved in retail planning,. 4,12

Rew Qo w0 ® 7 fRw Qo § Ffed i weAt @
- A | o
9. What is Retailing Pricing Strategy 7 Explain the
various factor_s'affec_ting retailing pricing strategy.

ST 2 g 4,127
9

01257-4650-(P-4)(Q-9)(22) ~ (4)
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